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52. 8l AZEHYAH A

Ol Kl £& CODING.txt & SPSS OI0IEZ 2t=0 SURVEY.sav 0l H&E3 1, SAS ZR20l=
T2 )8 S SURVEY.sas 22 MAEGIYULH (4 & &)
5.2.1. SAS
L E
Bl HE= FREQ procedure 0l 2|5 =& ECt. VAR 222 &ot= B0 Uidh BIEEE &
g A2 AI256I1D VAR 2 AMESHA 223 SURVEY OHIOIEHN JAs 2E H4=0 OISt
BISHDI S¥EC.
-IDATA SURVEY:
INFILE 'C:%TEMPYCODING.TET':
INFUT (Q1-QZ5) (1.} (QZ6 1-028 51 (1.)
(Q27-028) (1.) (029 1-029 3) (1.):
RUH;
-IPROC FRE) DATAR=3TURVEY:
A% TABLE 1 Q3 %/ /% TABLE Q1-0Q1z: */
RUH;
(2)Z 2t ol & 35Ho|
(22 28 20 UM Q3(&E4 XN9Q) 28 BT 24 ZFUE IHH2 A0IL T===8!
T, HES=UU BIE, HE%)=S 20IotH =& (cumulative)2 1 H=0HA =& 3= 2
Ol 2= 28 Ji== 1 20l CHoll SEotXl &2 Mgl =E 20lotlH 0l &F
ZAUAME 8 A0l “Q3==4 X" 20l S5t LUAS2 20I&t
=& =&
3 E MES E=x M s
1 o5 65.89 85 £5.89
2 20 15,50 105 81.4
a e 1.55 107 82,95
Ll 5 3.68 112 g6.82
5 17 13.18 129 100,00
ZEE He =1
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SEANE 4 NGE2 EY UE 65.9%=2 & 0 =8 155%010H 1 2 AE2
& X9 S44 BI20] 80%L!0l Hioh S=3MsR=s HE Al

S SN OA 22 A2 stu HWolA 3Z8E0 Q= st2e U 012 NF0A &
o 2 AHs & = A

=g Freq: SAS AAH
w g Q1 EHIOIE
& G2 HOE
5-- 5 Q3 HIOIE

P 22 HIG HOIE
Q4 HOE
|i| = MR HMNE

—% A5 EHW) ESH

Q@ Z2(Q) = .

[RIEI0IE HEID)

R R WL e
WAIIED..,

gref Q3 et H=E &l HEE 0|50l ST ofd® Oteiet 201 LABEL 22 At
(=

ZotH = Hel €2 X0ls He Bsot Hd AL2=2 20| 0] S AIEo =2
[og]

EIDATA SURVETY:

INFILE 'C:\TEMP4"CODING.TIT':

LABEL Q3="REGICN"™ Q1="GENDER" QzZ="ARMNY":
INPUT (Q1-0221 (1.1 (26 1-026 31 (1.)
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REGION

| |
B £+  #Es £ weg
1 @ 65,59 65 65,8
g 20 15.50 105 o1.40
3 AN 7 EE
q 5 3.08 112 oh. g2
5 17138 12 100,00

2 M4 - |

(5)FORMAT 2 A2

Obs m

ma | e
ma | e
ma | e
ma | e
ma | e
ma | e
ma | e
ma | e
male
female
male
female

foamala

~'PROC FORMAT:
wvalue glfm 1='male!
2='female';
run;

—lproc print data=survey:
format ol cglfm.; wvar ol;

A= OO =] O e OO —

rumn;

ORE R

Ct= procedure Off 2lof IOl XtEE O = UL SE &FHO
£ elJl M{ECt SAS/INSIGHT Lt SAS/INSIGHT OlA Cta Z0IotH dHEE O =
U[USLE AIZAE S HOY OeZ Oele A2 DA 0EC0H DdefEZ= AAuM 2l
Jl Htettt

= PROC GCHART DATA=SURVEY;
goptions reset=all;
FPIE 23 / value=none percent=arrow
zlice=arrow cfill=cyvan noheading:
run;
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v WORK S0 01-=ah(
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S =
Viewer (2= 2J)&0 & A2 200 UEFHCH & SEfe 24E 018otH 11 21t

£ ALz s IJt=0l S0lotth
=/PROC FRE(Q DATA=SURVEY:

TAELE Q3;
RUH:

REGION

+H

—
— Tﬂ
[=1) e HY = =
= L+ HUHEs

Hl

03 &+ %

1 85 £5.89 a5 £5.89

2 20 1550 105 81.40

3 2 1.5 107 82.95
4 il 388 M2 86.82
5 17 1318 129  100.00

B 2A £ 2 HUM UCHE 222 MG S(CTRLHC) M0 JtA Ms 42
Heist & CTRL+V S 520 YCHIF SAS0. UEHES 0185101 sts JZsS

el "l tse ff ZUE A40 206 €2 HHO0ICh
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UISHE? S0 defi=0F OHAXN D 2F 23 ZF0l H=0l elAE =L |cts Z30A
B HE MESIH 24 202 U2 01sE = U
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20510 WS Nes = FAsls NYS o1 B0 SOl HIFI], B ge 2D A
8101 SO0 IStk 0SS H=S V3 UM “S4 NO2 HRD HME AW 01X

o
]
=
!
AL
mo o
>d
]
ror
Y
B
=)
a
e
T
1
10
!
=
£
Im
12
S|
=]
b
2
]
=
oo
0
>
0
o]
b
62



Hl_‘|:_ —E—/:“
102 Chapter 5. &I
24 X2

HlE o5 HHE | s®IME
=¥ T 85 65.9 65.9
2 " 15 81.4
3 ; 10 82.9
4 : 39 86.8
5 17 13.2 100.0
s 129 100.0
2= Al AE 2A=2¢ ;
JeEE S 240 JHHQAHM DA 22X 01fA HES =2 FEIENE «
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5.3.1. SAS

-~ DATA SURVETY:

INFILE 'C:%TEMPYCODING ERECOR.TET':

(Q2Z6 1-Q26 5)

!

5] (1.
(029 1-029 3)

!

(1.

INPUT (Q1-Q25)

t1.7;

!

(1.

(2T -028)

RUH:

SUBRVEY:

='PROC FBE)Q DATL
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JH Ot
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201 7¢

OH, Q16 Ofl 8 Bi(19H), Q179 & 1 JH, Q29

=

Bl 24 Z10 Q1301 8
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B
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8]
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-
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5.3.2. SPSS
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5.4.1. SAS
GIOIEf 2lS $I5H01 SAS data 0SS CH2H GO 8ICH SURVEY1S C1E 28 BIE =2
S0BF AFEEID CHAIS AFEGHA 9H=Ch B4 Q2001= Q29_1-Q29 37K SE 2ot
s 20 HEECH
~ DATA RTURVETL;
JET 3URVEY; :
QZ9=029 1;0UTPUT:
QE9=020 2;0UTPUT:
QZ29=029 3:00TPUT;
BUH;
~PROC FREQ DATA=3TURVEY1;
TAELE 0QZ9;
BUH;
= =
{29 Ex HES £ HES
1 48 15.58 48 15.58
2 B 17.53 102 3302
3 2 1683 154 E0.00
4 B 12,3 1% 2.3
3 By 22.40 261 84,7
5 7 155 308 100.00
=T M =82
S Me 2802t BITIF 30822 X 130 HQIGNOICH 1292 h4E He HIED
DX ot EICH OfSHA0l ol EOFES LIls st HIS0| JIE =SS 2 £ QUL
Brop MEH0| M2 20 A&S X0IS BI| Aot B 27 & HFD)S AAGHE
S ChS1 20/ 220 ot ©Ch 0l ¥ SURVEYL Olets CIOIHE ASaHOF Bt
TABLE 29| 20l Blas #3,* S0 Bas 28 NFSHL,

='PROC FREQ DATA=3TURVEY1:
TAELE Q1%Qz3;
RUH ;



MESH BN RS

Stal(5), gXt=(2) &

o (02

=2 0

2l s

<

HAZ o
T = =2

029
HIE
mES
o e S
28 wEE(\ 1] g 6l =&
[ 3] [ S5 B0 | M| 213
10.23 || 12,87 8.7 0| 1.2 | 00
14,55 || 1831 1.7 15 9F
o4 Xt B 96 || 7500 B5.79 | 246 | 7.
20 18] 13 130 19| 13| 90
G 528 | 4.73 4.2 4,23 | 29.70
1798 | 1444 1444 14,44
3,04 | 25.00 .21 | 27.50 | 27.66
3t TR | B3 47 303
15,81 17.0F 1280 2277 1581 100.00
o zeM... ®

RS 2 glue. M|(v33-v35)

2 =% It S0t UCLL NOCOL &

ct= FE0l/D NOPERCENT =

HOZ M
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£ ot WX
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MAJOR

0l S0 Jt ALk

Q26

3

DATA SURVEYZ:

3ET SURVEY:

STRVEYZ :
TLAELE Qza*MAJOR/MNOCOL NOPERCENT:

Q06 2;MAJOR="EFE-r;QUTPUT;

Q26 3:MAJOR="3Z-dr: QUTPUT;

Q26 4:MAJOR="10 %‘—"; OITTRUT:

Qz6 5;MAJOR="E} v QUTPUT;

Qz6 1;MAJOR="3] %" ; QUTPUT;

Q26
QZ6
Q26
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-

PROC FRE() DATAL

BUH;
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ey 12 @EEE SE4E @Le HE @S da2 2 @HA=H 2EA
H2 Ho/H e M ..324..2 YUBAECH SAS T2 02D 20}
DATA STURWVETYZ:
S3ET SUBRVETY:
Q26=0z6_1:;RANK="19%]":OUTPUT;
Qz6=Q26_2:RANE="25 3 " OUTPUT;
Q26=Q26 3;RANK="3<%| "; OUTPUT;
RUNH:;
PROC FREQ DATA=3TRVETYT:Z:
TAELE RANE*QZ&/NOC0OL NOPERCENT:
BRUH:;
Q26 Bia= 250 BSIF 20 UD RANK B 2901 SO QUCH
026 RANK
3 129 | el A Sg
2 2 =9
RANK 026
HIG
R 1 2] 3| 4] 5| 28
1228 ¢ A 15 | g 1] 11119
er.a ¥ 3782 | 3.3 | o0m| 0.
P3| 2| 13{ 58 240 15| 112
1,79 | 11,61 N5 2143 | 13,3
30| ( sa) 53| 11| 0| 1123
47754 43.09 | 8.9 | o000 0.8
3t o1 1 2% 17 35
==Zr0 M2 = 36
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5.5.2. SPSS
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Exercise 113
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